Electric Circuits Practice Test Name: Qr\sw

Multiple Choice (3 pts each)
Choose the best response

1) Distinguish between a series circuit and a parallel circuit.
a. Parallel - one path for electrons, Series - multiple paths.
(byParallel - multiple paths, Series - one path for electrons.

2) In a series circuit, every element experiences the same
a. voltage.
current.
c. resistance.
d. power.

3) In a parallel circuit, every branch experiences the same
(@.voltage.
b. current.
c. resistance.
d. power.

4) For resistors in series, the total resistance is equal to
a. the sum of the resistances divided by the product of the resistances.
b. the product of the resistances divided by the sum of the resistances.
c. the sum of the individual resistances divided by the number of resistors.
@the sum of the individual resistances.

5) For two resistors in parallel, the total resistance can be found by X with ‘n m,llLL
a, the formula Req = (1/R1 + 1/R2)1. = mace aod .. - \ Case o mces '
b. the product of the resistances divided by the sum of the resistances. ¥ 5{}‘”& Q. res’
¢. the sum of the resistances divided by the product of the resistances. %
(d)eithera orb.
6) What is the equivalent resistance (Req) of a 100 Q resistor and a 440 Q resistor in series?
a.81.5Q. il
b. 270 Q. Lov #44o = SHO
€540 .
d. 1080 Q.
7) What is the equivalent resistance (Req) of a 100 Q resistor and a 440 Q resistor in parallel?
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d. it depends on the order in which they are connected. * C' ol +,0022%. ) = L3S

8) Calculate the current in a 12 Volt battery that is connected to three 5 €} resistors in paralle]

a. 0.8 A. / ) S' LTS
b 1674 R (343 ¢ 1) 08 e
00 Tk -
@7z tay = ;(:uiﬂ.—) o el ?.Jﬂﬁé‘
9) Calculate the currentina 12 Volt battery that is connected toa 1 €2, 2 ©, 3 (2 and 4 Q resistor in series.
1.2 A

b. 4.8 A. ;?%:(+;2_+34u(: I0SL = Reg
c. 10 A.
d.25A. \/CI&
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Free Response (#10-11points, #11-20 points, #12-20 points, #13-11 points, #14-11 points)

10) Using the standard symbols we discussed in class, draw a series circuit with three resistors, a switch, a battery, an
ammeter correctly connected to measure current, and a voltmeter correctly connected to measure the voltage drop

across the middle resistor.
\L,/q,[l

11) Using the standard symbols we discussed in class, draw a series circuit with three resistors of values 2.00 £,
4.00 Q,and 8.00 Q as well as a battery of voltage 9.00 V. Next find the equivalent resistance of the circuitand the total
current in the circuit. Finally, calculate the voltage drop across each of the three resistors. Show all calculations!
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12) Using the standard symbols we discussed in class, draw a parallel circuit with three resistors of values 2.00 {},
4.00 ), and 8.00 () as well as a battery of voltage 9.00 V. Next find the equivalent resistance of the circuit and the total
current in the circuit. Finally, calculate the current in each of the three resistors. Show all calculations!
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13) Many homes now have a digital video recorder (DVR) that constantly records television programs. What is the
current supplying such a DVR that has a power rated at 55 Watts when connected to 120 V?

P=-Tv T < D.usts

14) What does it cost to operate the DVR in the previous question each month if the cost of electrical energy is

$0.125/kWh? well @B SSWE O.05CES lacostt = Bodas ¢qu%¢7: 220k

Erogy = o551 Fwoh) = 39.6 libh
26.6 kW
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